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QUESTION 1

When starting a program with the nice command without any additional parameters, which nice level is set for the
resulting process?

A.-10
B.0

C.10
D. 20

Correct Answer: C

QUESTION 2

Which of the following commands are common Linux commands for file management? (Choose three correct answers.)
A. copy

B. mv

C. move

D.cp

E. mkdir

Correct Answer: BDE

QUESTION 3

Which of the following signals is sent to a process when the key combination CTRL+C is pressed on the keyboard?
A. SIGTERM

B. SIGINT

C. SIGSTOP

D. SIGKILL

Correct Answer: B

QUESTION 4

Which of the following commands creates an ext3 filesystem on /dev/sdb1? (Choose TWO correct answers.)
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A. /sbin/mke2fs -j /dev/sdbl
B. /sbin/mkfs -t ext3 /dev/sdbl
C. /sbin/mkfs -c ext3 /dev/sdbl
D. /sbin/mke3fs -j /dev/sdbl

Correct Answer: AB

QUESTION 5

Which of the following is a limitation of the cut command?

A. The cut command can only select output by field position.

B. The cut command cannot reorder fields.

C. The cut command only works on ASCII text.

D. The cut command cannot use different input and output delimiters.

Correct Answer: B
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